TFAL T ILR

N o K% FilE 1 2 3 4 B | BR | = [IEfL
Al 1| #* &z ) — 6 — 1|6 —3| — 210 1
B|2 (g H 2 F& F|F HH B E1 —6 6 — 3| — 111 2 st &
C 3 H-E “l Zi %Winning Shot| 3 — 6|3 — 6 — 0 2 3
D| 4 (B y e — — —
WEIE) DBvsC QDAvsC QRAvsB
62
No EZ PR 5 6 7 RN A
AlS5[H o B =z X / T S 6 — 1|16 —4 — 210 1
B|6|[x mM = FlAHLrreamzlil —6 6 — 4| — 1] 1 ZEHEPE{E,
cCli|e ® Z FF # E|4 —6[4—6 - |o|2 3
D| 8 |B y e — — =
wWEIE) ODBvsC @AvsC @AvsB
#?Bﬁ’/?ﬁ)lxx
N o K4 FiE 1 2 3 4 Bs | BR | = B
Al 1| H W FF £ 23 6 — 1|1 —6|6— 2|2 1 2
Bl2|XKF F 3 £KlArL>Snmzx|l1 —6 4 —6l6— 2|12 3
clalzg @ & F|TeampPAaoO|6 —1]6— 4 7—0|3]o0 1
D| 4 H B E|J J Bl2 —6[(2— 6|0 —17 0] 3 4
L )
xtEkIE) DAvsD, @BvsC, QAvsC, @BvsD, ®AvsB, ®CvsD
TFCHIVTILA
N o K4 g 1 2 3 4 B | BR | = B
Al1|# B 5 ®% &Bu s A 1 1 7—(2)6—3 — |20 1
Bl2 | B = %ﬂy?‘—/ysj“(g)—7 6 — 1] — | 1]1 2
cl3l= 2oEAFLYSAY 3 —6[1— 6 = 0|2 3
D| 4 |B y e 0 —0/0—0(0 — 0O

WEIE) DBvsC @QAvsC QAvsB



BFCDHEATILR

N o K% B 1| 2 | 3 | B | & | &= |IER
T OHF # =B E 1k =2 _ _
ATl * & ®we & & = fege=o 2 u ‘
xF # MoOEJ F T C|g_ _
Bl2|T X & OEY F T g5 ? 6-0/ 1 | 1 2
clsE U & B S AT Ta-selo-s 0| 2 3
HEIE) DBvsC @AvsC ®QAvsB
=3 B
= B = __ =
ald 4 BT TN 5006 1| 2 4
6
FEEE
H | == | =<1
clold u" g &7 m m o Y°? 2|1 ‘ e
— EH B
$HEIE) DBvsC @AvsC ®QAvsB 3
6
N o K4 g 7 8 9 B B R | ERL hmi @k
S I B Xt b+t ILBEF _ _ TH BT
AMlTle m B Beorsome \° P20 ‘
t* % glBER2F =245 F|, _ B
Bl8|lm x # #zWBEnF=zs59""° 6-4 1 |1 2
A B ®H AU s A 1 1|, _ _
clold 2 & &l § |2 -6[4-6 0| 2 3

$HEIE) DBvsC @AvsC ®QAvsB



A5FEAFHAIIA

N o K4 riE 1 2 3 [ B £ | EAL
w B = #lz X / T s _ B
Al Tl o B ®me & & =2 0-63-6 0 | 2 3
ot M| EoOZ|J J B B B
Bl2|y B —|mamsmaaa® 0 T-6 1 ‘ 2
B H E T IV — v _ _
1% @ x E zrmoou - % 210 ‘
EIE) DBvsC @AvsC QAvsB
55RBEFAFITILR
N o K& iz 1 2 3 4 5 [ B = | EAL
s M E =R I 2T _ _ 6 _
Al & Bz 2 5 2 T NE=9i=@le=-2 ¢ | ‘
5| o | g RYLF—957| S| _
L] 5= XY TF—49 35D
W T T EHLUF—H 5T _ o _ _
C|3 |4 4 = 2 Fy s f 2|3 -6 0- 6[4-6| 0 3 4
6
b m| DEERTF=R2 57
D45 x5 H%EIHE&;:X’757§4_7 - l6-0 6-1| 2 1 2
B <7 K BE XfRTF=ZRIFT _ _ _ B
Bl v o ZEeorsuomy 2 8 6-41-6 ]2 3
WERIERE) F+vs5—2vsi4 Dlvsd 2vs3P2vsbE 3vsid BDlvs3— 4vs5E1vs2 3vs
65BRBEFSFITILR
N o K& i@ 1 2 3 4 B B £ | IEf
= # B ABER2F=R45T _eli—els -
AlTls ® ® —|BE Ko4—2 2-61—616— 4 1) 2 3
£ & #lu T (o} _ _ _
B| 2 %5 B EF AlF— 24 1 N G 6 2 6—0|6 2 3 0 1
I Il #wlF — L I N G _ _ _
1% w m ZF-—n1nNal® 07O L B 2
=] E T REBRETF=-RXYFT _ _ _
Dl 4y 8 ® % m|F — 4 1 N gt 82646 0] 3 4

HEE) DAvsD, @BvsC, @AvsC, @BvsD, ®AvsB, ®CvsD



1AL

55 ER X TR B4 6 5l EBFHXTINA FE1NL







